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Question Number : 1 Question Id : 820051637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the below options fits the following description?

"It runs on computer hardware and serves as a platform for other software to run."
Options:
1 « Operating System

> % Application System

=z # RAM
4 % Browser

Question Number : 1 Question Id : 820051637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.4 HroyfeeT Ees
o ® uieara THEeH
3 # RAM

4 % SI3aY

Question Number : 2 Question Id : 820051638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does Alt+ Tab do?
Options:

1. % Save afile

= « Move from one window to other
= % Open anew file

4 % Refresh the system

Question Number : 2 Question Id : 820051638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Alt+Tab FaT FIar 272
Options:
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Question Number : 3 Question Id : 820051639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does Ctrl+Home do?

Options:

1 « Takes the cursor to the beginning of the document
- # Saves the file

= % Opens a document

4 #% Takes the cursor to the end of the document

Question Number : 3 Question Id : 820051639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ctrl+Home T FIar 27
Options:
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Question Number : 4 Question Id : 820051640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a browser?

Options:
1 % Explorer
> % Firefox
z # Chrome
4

Question Number : 4 Question Id : 820051640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % TFHAART (Explorer)
. % TIEREEFT (Firefox)
- % ®IA (Chrome)

, v BRERwETE (Firefly)

Question Number : 5 Question Id : 820051641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If a process fails, most operating systems write the error information to
Options:
% Another process

> # New file
=  Log file

4 % Create file

Question Number : 5 Question Id : 820051641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 820051642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following does an operating system manage?

Options:

1 % Memory

> # Processor

= # Disk and I/O device

4 « Memory. Processor & Disk and I/O device

Question Number : 6 Question Id : 820051642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 820051643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Files created in Lotus Notes 1-2-3 have an extension
Options:



1. % .doc
> ® Xls
o & 123
4 % ,win

Question Number : 7 Question Id : 820051643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Aeg Ay 1-2-3 H daT WISl &7 TFHCT FIT 872
Options:

1 % .doc

> #% Xls
= o 123
4 % Win

Question Number : 8 Question Id : 820051644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main purpose of the operating system is to

Options:
1 % actasa firewall

- « use the computer hardware efficiently
= % Scan the system
4 % protect the system from virus

Question Number : 8 Question Id : 820051644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 9 Question Id : 820051645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The operating system resides in
Options:

1 » ROM of the computer

> # RAM
z # COOKIES
4 " Hard Disk



Question Number : 9 Question Id : 820051645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arfeer s H @ §
Options:

| % FGX F A (ROM)
> # W (RAM)

. » FrT (COOKIES)

4 v &2 BFF (Hard Disk)

Question Number : 10 Question Id : 820051646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a standard set of functions through which application interacts with

the kernel
Options:
1« System's Libraries

> % Kernel Code
= » Compilers
4 % Utility Programmes

Question Number : 10 Question Id : 820051646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 820051647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Please find the odd one out:
Options:

1. ® Office 2000

> & Office 2004
=z # Office 95
4 % Office 97



Question Number : 11 Question Id : 820051647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S5 T T (odd) FT IaT TET
Options:

| % HIE 2000

> « AT 2004

Question Number : 12 Question Id : 820051648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following statements is false?

Options:
; » MS Word can be used for typing a resume

> % MS Word is an example of an application software

=z « MS Word files are txt file
4 % MS Word is part of the MS Office suite

Question Number : 12 Question Id : 820051648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AN T HiT T FUT JTT 7

Options:

THUH T2 (MS Word) & 3937 Reg® 7 75 a@a (I30) A
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Question Number : 13 Question Id : 820051649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which command will help you save a document?

Options:

1.« Ctrl + 8

> ® Ctrl + Shift + S
3 ® Shift +S

4 ® Alt+S

Question Number : 13 Question Id : 820051649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1.« Ctrl + 5

> % Ctrl + Shift + S
3 #® Shift + S
4 % At + S

Question Number : 14 Question Id : 820051650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which option would you use to replicate a paragraph of the document to another place

without deleting it from the original place?

Options:
, = Ctrl+M followed by Ctrl +V

5 # Ctrl = X followed by Ctrl + C
3 « Ctrl + C followed by Ctrl +V
4 % Ctrl+ Z followed by Ctrl + C

Question Number : 14 Question Id : 820051650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % Ctrl + M & &1 Ctrl + V
> % Ctrl + X F &€ Ctrl + C
- Ctrl + C & a1 Ctrl + V
4 % Ctl + ZF @€ Ctrl + C

Question Number : 15 Question Id : 820051651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If you want to view how the document will appear once printed without actually
printing it, what will you do?

Options:

1 % take a print of the document

5 « print preview
= # Zoom the document to 20024
4 % Cut the document

Question Number : 15 Question Id : 820051651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 820051652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What would you be trying to do. if you use Cul + F?

Options:
1 # Fetcha file

= « Find a text
= # C(reate a File
4 % Save a file

Question Number : 16 Question Id : 820051652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 820051653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What would you be doing. if you use Ctrl + Enter key in a Word file?

Options:
| « Start typing text from the next page

> % Open anew file
= % Start from a next paragraph
4 % Increase spacing

Question Number : 17 Question Id : 820051653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 18 Question Id : 820051654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is false?

Options:
1 « MS Excel can be used for generating a Random Number

> % MS Excel can be used to generate a pie chart
= % MS Excel can be used to generate a bar chart

4 % MS Excel can be used to generate a Column chart

Question Number : 18 Question Id : 820051654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 820051655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What would you be doing. if you use the key Shift — F7 while using MS-Word?
Options:

1.+ Use the Thesaurus

> # Find a text
= % Insert atable
4 % Insert a formula

Question Number : 19 Question Id : 820051655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 820051656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does the SUM IF function do in MS Excel?
Options:

1 « Addup cell value based on a condition

- % Add all numbers in the selectad cells

= # Give a sub total

4 ® Multiply cell value based on a condition

Question Number : 20 Question Id : 820051656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THTH TFHA (MS Excel) # SUM IF waRld FaT &7aT £72

Options:
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Question Number : 21 Question Id : 820051657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the result of a formula in a cell in an Excel sheet.

Options:
1. % Table

- % Module
= # Worksheet
4 % Value

Question Number : 21 Question Id : 820051657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 820051658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A Plotter is a(n) device
Options:

1 = Input

- « Output

3. ® Processor

4 % Software

Question Number : 22 Question Id : 820051658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 820051659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inkjet and Laser Printers are examples of printers,

Options:
1 « non-impact

> ® Impact

z # dot matrix
4 % line printer

Question Number : 23 Question Id : 820051659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 820051660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following ports is used to connect a device such as mouse and modem?

Options:
1+ Serial Port

» % Parallel port

= % Infrared Port
4 % AGP port

Question Number : 24 Question Id : 820051660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 820051661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What 1s a VPN?

Options:

1 # Virtual Public Network
> & Virtual Private Network
- % Virtual Primary Network

4 % Virtual Print Network

Question Number : 25 Question Id : 820051661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frfree (VPN) & &2
Options:

i TYHA Tfeetsr Acaw (Virtual Public Network)
e ol IYHA WgaC Aeae (Virtual Private Network)
2 TYHT WAL Acaw (Virtual Primary Network)



, » I3 T FAeaeh (Virtual Print Network)

Question Number : 26 Question Id : 820051662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To convert the text message in bold. italic etc. fonts........will be used by the sender

Options:

1 % Rich Signature

> % Rich Text

z # Rich Format

4« Rich Text and Rich Format both

Question Number : 26 Question Id : 820051662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 820051663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does ARP stand for?
Options:

1.+ Address Resolution Protocol

5 R Auxiliary Resolution Port
= % Address Results Proposition

4 % Anti Rest Pad

Question Number : 27 Question Id : 820051663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TIHRET (ARP) & O ATH FT 82

Options:

| » 738 REegee Skl (Address Resolution Protocol)
o w 3iesTerT Reflegera o€ (Auxiliary Resolution Port)

- » T30 ey 9o (Address Results Proposition)
, » T T&E 9T (Anti Rest Pad)



Question Number : 28 Question Id : 820051664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A programme that is used to view websites is called a

Options:
1 #% Word Processor

> " Browser
=z # Anti-virus
4 % Web viewer

Question Number : 28 Question Id : 820051664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 29 Question Id : 820051665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does URL stand for?
Options:

1 = Unlimited Result Log

= « Uniform Resource Locator
= # Unlimited Resource Locator

4 % United Resource Locator

Question Number : 29 Question Id : 820051665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IR (URL) T 372 a1 87

Options:

|« ¥HAToAeE Refee @ (Unlimited Result Log)
B gfewe R @ehet (Uniform Resource Locator)

- » HATOIHCE RAM ke (Unlimited Resource Locator)
i Tarses A deheX (United Resource Locator)

Question Number : 30 Question Id : 820051666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Each computer connected to the internet is mandated to have

Options:



| = aPentium processor
2 % an Anti-virus

= % apassword protection
4 aunique IP address

Question Number : 30 Question Id : 820051666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3T W I3 TAF FogeT H BT SR 2
Options:

.« Ufews 9rEET (Pentium processor)

. » TEETRH (Anti-virus)

- » TTHIS-HIETUT (password protection)
., v Tafrs e T3F (unique IP address)

Question Number : 31 Question Id : 820051667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A cookie stores

Options:

, « Information on user’s web connectivity

> % Software developed by the user
= % Passwords used by users
4 # Commands used by users

Question Number : 31 Question Id : 820051667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U Feh! FIT WIS (store) FIAT g2

Options:
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Question Number : 32 Question Id : 820051668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Non Physical component of a computer is referred to as

Options:
1 % Hardware
> « Software



3. ¥ CPU
4 % Programmes

Question Number : 32 Question Id : 820051668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
% ﬁ;q%? ;T -5+ (Non Physical) o2 & ¥ ¥T H wefia
Options:

| % BTSN

5 o [T

. » EH (CPU)

4 % QIOTH

Question Number : 33 Question Id : 820051669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1s responsible for the function of computing in a computer.

Options:
1 ® Memory

< o CPU
2 ® Input
4 ® Output

Question Number : 33 Question Id : 820051669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U HYe H AT & FH & [T Er=-riedd
Options:

. % HAN (Memory)
, o ¥ (CPU)
- % $99¢ (Input)
313292 (Output)

4 ®

Question Number : 34 Question Id : 820051670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the odd one out:
Options:

., » Micro-phone

- # Mouse
= « Printer



, » Track Ball

Question Number : 34 Question Id : 820051670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S8 ¥ @YH (odd) F 9aT ST ;
Options:

1 % HISHIHIA (Microphone)

> % HABH (Mouse)

2  T9eX (Printer)

4 % ¢ didl (Track Ball)

Question Number : 35 Question Id : 820051671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ctrl. Alt and Shift are called keys.

Options:
1. " Modifier

> % Alphanumeric

=z # Function
4 ® Arrow

Question Number : 35 Question Id : 820051671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ctrl, Alt 3T Shift =7 $r (key) F@T ST 2l

Options:

| v ABHEET (Modifier)

. HeHIANE (Alphanumeric)
™,

2
- » T (Function)

4 % U (Arrow)

Question Number : 36 Question Id : 820051672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CRT,LCD, TFT and LED are types of

Options:
1 » Applications

> % File types
3« Monitors
4 % Printers



Question Number : 36 Question Id : 820051672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

CRT, LCD, TFT 3kt LED & gFR &1
Options:
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g4 ﬁ%-\éf

Question Number : 37 Question Id : 820051673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is used to measure the speed of a printer?

Options:
1. % CPM

> % LPM
z. # PPM
4 « CPM. LPM and PPM

Question Number : 37 Question Id : 820051673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ey fr 77 A & BT =737 T g 39aeEr & aar 82

Options:

, » Urdes (CPM)
, % TIdTH (LPM)
. » ST (PPM)
, v TTE (CPM), werdies (LPM) 3k drdfiear (PPM)

Question Number : 38 Question Id : 820051674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If you connect to a number of personal computers, you will be
Options:

; = developing a server

S

creating an enterprise

®

» developing a network

Cl'EHtillg a super computer

®

O

Question Number : 38 Question Id : 820051674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ife 3T F5 TR THAST FIEIT F FaoAae Fd &, ar ST 7Y g foF A9

Options:




. % TF T BT w7 w E
> % TSIAISH & I &l

- v Aeaw AT & w T
, » G FIX T4 W E

w

Question Number : 39 Question Id : 820051675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you have to add a footnote to a Word Document, which menu would you enter?

Options:
1. % Home

- « References
z # View
4 % Insert

Question Number : 39 Question Id : 820051675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A TR TF TE SFYHAT FH TeAle s &, A T B A F A
Options:

| % B

o v g

S.WE{

4 % TEEC

Question Number : 40 Question Id : 820051676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An excel sheet contains
Options:

1. % Cells

> % Rows
z # Columns
4 + cells, rows and colummns

Question Number : 40 Question Id : 820051676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U TFE offie & g gl

Options:

| % "o (cells)
. = US (rows)
- % @IeFd (columns)




4 v T, O 3R FreFd (cells, rows and columns)

Question Number : 41 Question Id : 820051677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using an FTP programme. you are

Options:
1 « transferring files to and from an internet server

- % designing a website
= % developing a programme
4 % Coding

Question Number : 41 Question Id : 820051677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IfE 39 v THEEST (FTP) YRIH &1 39457 &Y @ &, ar 39

Options:

| v FEEE WA ¥ AN $EAT N W FEH THE F 7 2
o  JowEE BT = w2

3_$mgﬁﬂqﬁﬁ%l

4 % SIST FT T &

Question Number : 42 Question Id : 820051678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
SMTP connections secured by SSL are known as

Options:
1. ¢ SMTPS

> % SSMTP
5 % SNMP
4 % SSLM

Question Number : 42 Question Id : 820051678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

THUHUA %_SSL) gaNT QAT THUASHT (SMTP) shelererar
FET JTaT gl

Options:

| TETACHITH (SMTPS)
. % THUHTHEET (SSMTP)
5 % THUATATT (SNMP)
4 » THUHTATH (SSLM)




Question Number : 43 Question Id : 820051679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a part of an email address?

Options:
1 # Username

> % Domain Name
3 8 @

4 « Protocol

Question Number : 43 Question Id : 820051679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Frafaf@d & ¥ #ia @1 $30 3@ & s 74 82

Options:

l_ﬁzlsmrh:r

™~

.« B A7

2 % @
4,«-—“9%?

Question Number : 44 Question Id : 820051680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 1s the term used for unsolicited emails?
Options:

1. ®# Waste

5 % Newsgroup
3 # Flares
4 + Spam

Question Number : 44 Question Id : 820051680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
g SA & T ggwd oeg #7 22

Options:

, % 9F (Waste)
o % TRTAT (Newsgroup)

- % FANH (Flares)
, v T9H (Spam)

Question Number : 45 Question Id : 820051681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
HTML stands for
Options:



1« Hyper Text Markup Language

> # Hyper Text Marked Language

= ® Hyper Text Makeout Language
4 % Hyper Text Makeup Link

Question Number : 45 Question Id : 820051681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TIEITATS (HTML) o7 379 & -
Options:

1« BISIX FET ATFHT 7= (Hyper Text Markup Language)
. » B8N TFEC AFE =9 (Hyper Text Marked Language)

5 % BIPH TFES AFAHT3C ofed=T (Hyper Text Makeout Language)

, » BEW &FEE A&HHT Tol (Hyper Text Makeup Link)

Question Number : 46 Question Id : 820051682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following term is not related to E-mail messaging?

Options:
1 # Trash

= # Sender
= # Attachment
4 « Chart

Question Number : 46 Question Id : 820051682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T=ffea # & #i7 @ &3 #uTT § weiHa 78 87
Options:

. % & (Trash)

- % U= (Sender)

- » HcTHE (Attachment)
4, v T€ (Chart)

Question Number : 47 Question Id : 820051683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What do you understand by Malware?

Options:
1+ It is a malicious sofiware

> % Itis atype of keyboard



= % [t is an operating system

4 % Itis atype of optical fibre

Question Number : 47 Question Id : 820051683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AGE3T ¥ AT FI7 THSS 872

Options:

l_gagwgsﬁamq;p‘r(ﬁ?}ﬁ'aﬂ)my

. % TE TF R F FaEE
- % UE UF AT B g
, % TE TF 3HIfCehel FIEE F THR &

Question Number : 48 Question Id : 820051684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is not an anti-virus software?

Options:
1. % McAfee

- # Norton
= « Trojan Horse
4 % Avira

Question Number : 48 Question Id : 820051684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S8 U Hid T T-IITE AT 74T 87

Options:

| » Ha® (McAfee)
. » #tead (Norton)

- TS g¥ (Trojan Horse)
4 % TR (Avira)

Question Number : 49 Question Id : 820051685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If yvou use Ctrl + Z. you will

Options:
1 % redo the last edit

= % select all text
=« undo the last edit
4 % close the window



Question Number : 49 Question Id : 820051685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I 3T ST + A (Ctri+2Z) F 93T 9 &, ar 379
Options:

| x o wued # g = 2
, » Wt F foeee wea &
. v TTT FUEA F HA-F A &
4_33%@@?\[%[

Question Number : 50 Question Id : 820051686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What does an electronic spreadsheet consist of?

Options:
1 % Rows

> # Columns
z # Cells

4 + Rows. Columns and Cells

Question Number : 50 Question Id : 820051686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TF SoFdias Fsie & Far ofAe g 22

Options:

. % U (Rows)

. » FeFE (Columns)

- » Hed (Cells)

, v U (Rows), Feed (Columns) HR Fem (Cells)

Question Number : 51 Question Id : 820051687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Yahoo. Google and Infoseek are

Options:

1. % Browsers

5 % Newsgroups

=  Search Engines
4 % Anti-viruses

Question Number : 51 Question Id : 820051687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



TTg, TETT AR FHr gl
Options:
1 CIESES

> % TR

g

Question Number : 52 Question Id : 820051688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the odd one out
Options:

1. % Mogzilla Firefox

> % Netscape Navigator
= % Internet Explorer
4 + Rediff

Question Number : 52 Question Id : 820051688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S8 ¥ YA (odd) FT 9aT ST ;
Options:

% ASer HTITHIFT

A e N Y

5 % HASEHRT AT

- % S TFHAT

4. T%CF
READING COMPREEHERMSTONM

Section Id : 82005170
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 82005170
Question Shuffling Allowed : Yes

Question Id : 820051689 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (53 to 57)
Juestion Label - Comprehension
Many cricket enthusiasts consider Ranjit Singh Ji as the father of cricket in India for
his contribution in establishing the Indian brand of cricket in the pre-independence era
dominated by the English and the Australians. The popularity of an Indian. in an era of
colonisation reflected the innovativeness and freshness in his play. Ranjit Singh Ji
played most of his cricket in England and went on to be a part of the English test team.
He is remembered for some of his fine innings against the touring Australian test sides
and consistently emerging as one of the highest scorers for Cambridge University and
Sussex. the teams he represented in first class cricket. Apart from this. Ranjit Singh Ji
also went on to captain Sussex in the early 1900s. which was very rare under colonial
rule. Unorthodox in technique and with fast reactions. he brought a new style to
batting and revolutionised the game. Previously. while the batsmen generally pushed
forward. Ranjit Singh Ji played most of his shots from the back foot. Ranjit Singh Ji is
also attributed to have developed the modern day leg glance or the flick. The country's
premier first class test tournament. the Ranji Trophy is named after him. Many of the
modern day sub-continent batsmen replicate his style of batting. which involves the
use of the wrist to generate power rather than the forearm. While the game has
changed considerably over the vears. the longevity of Ranjit Singh Ji's style is
unquestioned as most modern day cricketers use his invention, 'the flick'. as the most
reliable and safe shot for scoring runs.

Sub questions

Question Number : 53 Question Id : 820051690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ranjit Singh Ji revolutionised the game

Options:
1 « by his new style of batting

> % Dy captaining Sussex team
= ® Dby representing England in Test Cricket
4 #% by emerging as a leading scorer in first class cricket

Question Number : 54 Question Id : 820051691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Why is Ranjit Singh Ji considered as the Father of Cricket in India?
Options:

; » He scored runs against the Australian team

- % He invented the flick. which is now used across the world

= % The country's premier first class tournament is named after him

He established Indian Cricket in the pre-independence era when cricket was
4 + dominated by the English and the Australians

Question Number : 55 Question Id : 820051692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Why does the author feel that longevity of Ranjit Singh Ji's style cannot be questioned?
Options:

1 % The country's premier first class tournament is named after him

> « Most modern day batsmen use his style and the stroke invented by him

= % He scored runs against the Australians

4 % He revolutionised the game

Question Number : 56 Question Id : 820051693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How was Ranjit Singh Ji's cricket style different?

Options:

1 + He played on the back foot. when other batsmen pushed forward
- % He was an Indian playing in England

= % He played like modern day cricketers

4 % He was unorthodox in style

Question Number : 57 Question Id : 820051694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What do you think is the objective of the article?
Options:
Highlight Ranjit Singh Ji's contribution to Indian Cricket in the pre-independence era
1 + and the way modern day game is being played in the sub-continent

- % Provide a background of the cricket scene in the colonial era
= % Trace the roots of Indian style of playing cricket
4 % Explain how 'the flick' was invented

Question Id : 820051689 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension



firbe % F3 3caRr T 97 RS T rRformsar % TicT ara qa-wardiadar
* I H Fhe F ARG Fi5 H T H IO A F o T g #7
AT f3ehe T a0 AT & fafaeisor & g # v aRdT $i

SR TaT Fr &I T 3% W H FAdadT A T=ET F gAY a7 &g &g
ST 7 39T HTOFaT Grehe S9ols & T iy F gaferyr e &1 #71 ferar s+
AT F| 3+ IRT F T AR T W55 F @AF T galla Tl Gor
AT wF¢ Ford frde # FFas 3 F0ew &A fr TE § Fafaited 7 go
TaE 3T8F THIT F T A 330 [@aneal # ¥ % % &9 § 7 Far
ST g1 THSF HoaT, 0 ™ S 1900 F 3R F §UF9 #H Foed ot a5 A
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T, 38l dooldlsil I TF A% ol F7 =31 &Far 3T =3 @ & FHifg o &7
Tgel 5@ HTH dR W Teodll 3T T 3T 9 Fd A, T80 S g = 30
HEAFAT AT 4% W Weld F| g 8T S F 3y @787 F o1 aeq 4
o fospfa F &7 o 49 9o 81 & F THE B FAH e 0=
bl T ATH 37 ATH W & @M 7147 g1 3Mfas §AT #, 3§ 39 #AglgaT &
FS Toodra 31 Hr e H Tooarar Fg g, TuF aFg der #9 F v
BRATH F T Felsd! HT 399197 a1 AGT &1 Felifh Moo Fo a6 & 50
W H FHT e AT g, T off &g g 3t 1 O $r mgear 7 =
fafeere £, F9if% agfas 797 & FFe @ 9= % [T 303% =R s
I T forawaT AT @iaE o A E

Sub questions

Question Number : 53 Question Id : 820051690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e B S F g # Fifg a2

Options:

| TEoETST @ AT T3 QAT & @R
., » GHFE OF FH FeaE w6

- » ¥ T # gETois # gfafafcs F
, » PEC FomH fohehe H 9T TR T ae fGemEr & §F & 38T

Question Number : 54 Question Id : 820051691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
&g g = & 9Ra # fFehe 1 S 4T AT 4T 87

Options:




| 3egld AEefoe & ¥ [@ers & §ar
. 3R TFAE F S TR S 3 gfear sw oA s R S )

. O F AT BE FATH TAHE 38 AH I & @ T4 g

3e@l JE-FardiadT g H AR e & a9 Tuiia fFar a9 fhee
4_Jﬁmma@ﬁuﬁﬁm€rmml

=

Question Number : 55 Question Id : 820051692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
SIGF P TAT FAT T g T S g S Fr Ol Fr mgear smfema 87

Options:
| S F IHT B FAH TAAC 3% A T E I/ AT ¢

HAeIAe THT & HHT T 344 IR s i o o 3k
2_.jﬂi§'€ﬂ7fm%[ e é Eﬁﬁ

- % 3egl HTEEToas &9 & W% d §410)

Question Number : 56 Question Id : 820051693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g fag S f7 e oot 3t e o
Options:

| o J FFDE W e I, Tl 3T Feolars A H HT T A

_— T HYAF AT F Foodral H g Wod o

4 % SeTepr QS ITIIETT AT Fferse o

Question Number : 57 Question Id : 820051694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HIYF HJHR $H @ FT 3237 AT 72
Options:

E-FErAdT o # ARAE fhehe # 3R 39 Agied™ & dyfae wAa
| v # e F Tl A7 T g S F anee # Wifea S

L » AAEERIE o1 & fhehe & TR H TS{H Tl

- » Tohehe Toa &1 9IRS e & ST W FASK AT
o » TR F TG F AldF F J0IT FLAT



QUANTITATIVE AFTITUDE

Section Id ; 82005171

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 82005171
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 820051695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If an AP has the sum of 2350 and the first and the last terms are 10 and 460

respectively. What is the common difference and the number of terms?

Options:
1 « 50.10

5 % 10,50
T 15, 25
4 % 25,15

Question Number : 58 Question Id : 820051695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁWWM{AP]WWZEO%‘}ﬁTMWEﬁTWW

FHT 10 T 460 FI a7 3T TI-HAT (FHAS BHIH) TF 987 H A&
FT 22

Options:

. v 50, 10

o W 10, 50

o R 15, 25

4 B 25, 15

Question Number : 59 Question Id : 820051696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A vertical tower stands on a horizontal plane and is surmounted by a flag post of

height H. If the angle of the bottom of the flagstaff was 45° and that to the top of the
flag post is 60° and the flag post is 30 m in height. find the height of tower.

Options:

1% 30

o> 30/(\3-1)



3 % 90

4 % 30V3

Question Number : 59 Question Id : 820051696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TF T a9 A3 I 9T T 7 3R 3W W H F91E F UF TS
R BT 21 AT FoRTEarE & H=er TEg &7 For 45° § 3R v 9 &
ﬁ%mmsoﬂﬁwﬁmﬁmsoﬁmimﬁwﬁ

Options:

1 #% 30

5 o S0/(V3-1)
3 % 90

4 % 30N3

Question Number : 60 Question Id : 820051697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The angle of elevation from a point to the top of an incomplete tower is 45°. The

tower is further raised to height from where the angle of elevation is 60°. What is the
ratio of the height of the completed tower to the incomplete tower?

Options:

1 % 1/+3

> % 1/ (v3-1)
3 ¢ V3

4 % 1

Question Number : 60 Question Id : 820051697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

el foag & oF Y TR F oMY W I=TT F0T 45° §| AW F; FS AR
STET #T TE @ § 3G HI0T 60° F| qOT T HR WY AT H FAS F
HAIa fohea 87

Options:

1 #® 1/ ~3
> % 1/ (N3 - 1)

3 ¢ V3
4 % 1

Question Number : 61 Question Id : 820051698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



If 42 = 4096. the value of 43 will be
Options:
1. ¢ 64

> # 16
2 % 256
4 #% 1024

Question Number : 61 Question Id : 820051698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

g 4°= 4096 &, 4 4°* FT AT FAT ZEM?
Options:

1. 64

> % 16

=z ® 256

4 % 1024

Question Number : 62 Question Id : 820051699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AABC and AXYZ are similar triangles and have their areas as 25 sq cm and 9 sq cm
respectively. What is the ratio of their corresponding sides?

Options:

1.% 25:9

FaR bt

3 % 3:5

4 % 9:25

Question Number : 62 Question Id : 820051699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AABC 3R AXYZ 2 @aAa 31t 2, 3 3a% &% Han 25 F91 T
TT 9 EI;_‘I;@'#I‘ RGeS mﬁﬁ# E-'ElTa-ﬁ' (corresponding sides) T 3T

Options:

1.%26:9
e
38 3:5
4% 8 :25

Question Number : 63 Question Id : 820051700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the difference of a positive number and twice of its reciprocal is 1. then the number
will be

Options:

1 %1



A ]

[aw—y
S,
[ o]

Question Number : 63 Question Id : 820051700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IfE UF UACHE FEAT AN 3TF R A F G 1 Haw 1 ¢ 3@
HEIT F4T g7

Options:

1. % 1

> of 2

z # 1/2

4 % 3

GEMERAL MENTAL ABILITY AMND REASONING

Section Id ; 82005172
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 82005172
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 820051701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If “aA™ means to multiply *“a” by 3 and “a="" means to divide “a” by —2. then what is the
value of (4 =) A) =?
Options:
1.4 3
> % -3
3 % 1
4 % 2

Question Number : 64 Question Id : 820051701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I “aA” FT HT & “a” Fr 3 T T[0T 4T, AT “a=" FT AT g “a” Fr -2 7
HTeT T, ar ((42)A) = FT AT FIT g2

Options:



1. ¢ 3
2 % -3
3. % 1
4 % 2

Question Number : 65 Question Id : 820051702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out.
Options:

1. % UK

= # India

= « Asia

4 % SrilLanka

Question Number : 65 Question Id : 820051702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S5 ¥ =YH (odd) FT 94T F{I
Options:

1 B UK

> #% ARG

3 « TR

4 B -%ﬂ?»iﬂ

Question Number : 66 Question Id : 820051703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Insert the missing number in the series 2, 6. 12. 20, 30.

Options:
1. ¢ 42

= % 40
3 % 33

4 % 32
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ST 2, 6, 12, 20, 30, .. Fr 3T FEIAT FIAT EEN7?

Options:

1 42
> % 40
= % 38
4 % 32
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Correct: 1 Wrong: 0
The pie chart below provides the break-up of the seats available
in a cricket stadium. If Shobha can purchase tickets from club
class and reserved class, how many options does she get to buy
tickets from? (Assuming that all seats are available.)

Stadium Seafing Arrangement (Total Seat 20000)

m Box Seat

m Pavalion stand

W Reserved Seats
WIP Seats

B Club seats

Options:
1. % 4000

> « 8000
3. # 6000
4 % 12000
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1 % 4000
> « 8000
2. % 6000

4 % 12000
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Correct: 1 Wrong: 0

What is the valueof (x —a)(x—b)(Xx—c) ... X—y)(X—z) forall x = 0?
Options:

1, % X7

> % XyZ.a

3. % 1

4 ¢ 0
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AT x = 0 F T (x-a) (X-b) (X-C)..... (X-y) (X-Z) T HF FIT g&M?

Options:
1 ® XZ

> % Xyz..a
z % 1
4¢0
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Correct: 1 Wrong: 0
The figure given below gives the sales data for Company A and Company B.

Sales
Company A Vs Company B (In Millions)
2000

1800
1600

1200
1000 = Company A

m Company B

400
200

Year 1 Year 2 Year 3

If the sales of company ‘A’ in the Year 2 was about 1500 millions. by what percent
did the sales of company ‘A’ increase in Year 2 as compared to Year 17

Options:
1. ¢ 50%

> # 100%
3. # 40%
4 ® 45%
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Options:
1.+ 50%
> % 100%
=z % 40%
4 % 45%
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Correct: 1 Wrong: 0
What is meant by the term CRR?

Options:
1 # Cash Rupee Ratio

> « Cash Reserve Ratio



=z # Cash Revised Ratio
4 # (Cash Realised Ratio
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Options:
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Correct: 1 Wrong: O
Which country is central to the migrant crisis in Europe?

Options:
, # Uganda

> % Somalia
=  Syria
4 % Egypt
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Correct: 1 Wrong: 0
Which country proposed the establishment of a "World Youth Skills Day" in UN?

Options:
1 % India

> # Germany
= « Srilanka

4 % Canada
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Options:
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Which Indian cricket administrator died in September 20157
Options:

1 #® Asit Sen

- « Jagmohan Dalmiya
= = Ajay Shukla
4 % Lalit Modi
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Options:
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What was the flight number of Malaysian Airlines flight that disappeared in the year
20147

Options:

1. % MH 270

o « MH 370

3 % MH 300

4 % MH 280
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Options:
1. % TAUT= 270

> « THCTH 370
= % THCT= 300
4 % THU=I 280
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Correct: 1 Wrong: 0
Who has sworn in as the Prime Minister of Egypt recently?

Options:
1+ Sherif Ismail

- # Hosni Mubarak
=z % Abdel-Fattah-el-Sissi
4 % Ibrahim Mahlab
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Question Number : 76 Question Id : 820051713 Question Type: TYPING TEST Display Question Number : Yes

& young marn went to apply for a managerial position in a big company. He passed the initial tests and panel
interview, and then had to meet the director for the final interview The director discovered from his CV that
the youth's acadernic achievernents were excellent, 50 he asked, "Did you obtain any scholarships?" The yourng
mar answered "no"."Was it your father who paid for you to go to college?""My father passed away when [ was
yourlg, it was my rmother who paid for my education." he replied."Where did your mother work?" "She took in
washing," replied the young marn, blushing at what this important man must think of such menial work. The
director asked him to show him his hands. He looked at a pair of hands that were smooth, and strong and
perfectly manicured. "Have you ever helped your mother wash the clothes before?" he asked. "Never, my mother
always wanted me to study and read more books. Besides, she can wash clothes muach better than me. "The
director said, "You seern to be an excellent candidate, but I have a request. When you go horme today, g0 and
clean your mother's hands, and then come back and see me tormorrow morning. "The young man felt that his
chances of landing the job were wvery high, and went home feeling jubilant. When he got horne, he remembered
what the director had said and he fetched a bowl of water, some soap and a flannel and asked his mother to
let him wash her hands. His mother felt strange at this request Happy, but with mixed feelings, she offered her
hands to her son. He cleaned his mother's hands slowly, and as he did so tears started to roll down his face. It
was the first tirme he had noticed that his mother's hands were so wrinkled, the knuckles were swollen and
gnarled, and there were s0 many small abrasions and bruises on thern. Some abrasions were 5o painful that
his mother winced when he touched them For the first time he realized that it was this pair of hands that had
done laundry for strangers day after day to enable him to go to college and university. The injuries to his
mother's hands were the price that his mother had had to pay for his education and his future &fter cleaning
his mother hands, he quietly washed and ironed all the remaining clothes for her and folded them neatly
ready for collection the next day. That night, mother and son talked for a very long time. The next morning, he
went back to the director's office The director noticed the tears that sprang into the young man's eyes, when he
asked: "Can you tell me what you learned yesterday when you went home?"The young man answerad," I
washed my mother's hands, and also finished washing all the remaining clothes. [ know rnow what
appreciation 15, Without iy mother, [ would not be who [ am today. By helping my mother [ now realize how
difficult and tough it is to get something done on your owrn. And [ have come to appreciate the importance and
value of helping one's farnily."The director said, "This is what [ am looking for in a manager. | want to ernploy
a person who can appreciate the help of others, a person who knows the sufferings of others to get things
done, and a person who does not put money as his only goal in life "

Restricted/ Unrestricted: Unrestricted
Par agraph Display: Yes

Evaluation Mode: Non Standard
Keyboard Layout: Inscript



